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bad bin eta 2.7-2.8

but we never managed to be sure it is material (even it 2.7-2.8

could be affected by Pixel services). At some stage we wanted

to run some MC with extra material in this region to check the
sensitivity, but | am not sure we never did...

ves, the bkg is probably OK there, the issue is really non-
gaussian tails in the mass resolution.
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) tfuther checks

EXPERIMENT

» https://indico.desy.de/event/45074/contributions/169531/

attachments/91526/123646/bad_bin_eta2 pté.pdf
MC reco scan in bad bin (eta: 2.7-2.8, pt: >100GeV)
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h pars dscb->SetBinContent(1l, x0->getVal());
h pars dscb->SetBinError(1l, x0->getError());

h pars dscb->SetBinContent (2, sigma->getVal());
h pars dscb->SetBinError(2, sigma->getError());

h pars dscb->SetBinContent (3, alpha low->getVal());
h pars dscb->SetBinError (3, alpha low->getError());

h pars dscb->SetBinContent (4, alpha high->getVval())
h pars dscb->SetBinError (4, alpha high->getError())

~e o

h pars dscb->SetBinContent(5, logn_low->getVal());
h pars dscb->SetBinError(5, logn low->getError());

h pars dscb->SetBinContent (6, logn_high->getVal());
h pars dscb->SetBinError (6, logn high->getError());

//*************************

h pars dscb->SetBinContent (9, chi2.first);
h pars_dscb->SetBinContent (10, chi2.second);

//RooRealVar* nsig;
if ((nsig = (RooRealVar*)params.find("nsig conv")))
{

h pars dscb->SetBinContent (7, nsig->getVal());

h pars dscb->SetBinError(7, nsig->getError());

}

//RooRealVar* nbkg;
if ((nbkg = (RooRealVar*)params.find("nbkg conv")))

{
h pars dscb->SetBinContent (8, nbkg->getvVal());

h pars dscb->SetBinError (8, nbkg->getError());
}



https://gitlab.cern.ch/aiteam/aidy/-/blob/Craig_CF_alma9/macros/fitCalib.C?ref_type=heads#L1324
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« conclusion

EXPERIMENT

- even if there are quite some differences between the
calibration campaign 2023 vs 2024 | dont see how this
would be the cause of what lukas is seeing ?

if (doDSCB){
//cout << "Entering pars retrieval for DSCB " << endl;

for (int i=0;i<é;i++) m_pars[ieta][i] = h->GetBinContent(i+1);
//cout << "Retrieved pars" << endl;

// Minimal alpha values
m_pars[ietal[2] = max(m_pars[ieta]l[2], 0.01);
m_pars[ietal[3] = max(m_pars[ieta]l[3], 0.01);

m_pars[ieta][4] = min(m_pars[ietal[4], 100.); // cap logn to avoid numerical instability original
m_pars[ieta] [5] = min(m_pars[ietal[5], 100.); // cap logn to avoid numerical instability original

//cout << "Capped log n" << endl;

m_pars[ieta][4] = exp(m_pars[ietal[4]); // convert logn to n
//cout << "Converted n low" << endl;

m_pars[ieta][5] = exp(m_pars[ietal[5]); // convert logn to n
//cout << "Converted n high" << endl;

m_pars[ieta][6]
m_pars[ieta][7]

-5; //xtrunc_L
5; //xtrunc_R

std::string DSCB_name = "dsch_" + std::to_string(ieta);

std::string DSCB_x_name = "x" + std::to_string(ieta);
std::string DSCB_mu_name = "mu" + std::to_string(ieta);
std::string DSCB_sigma_name = "sigma" + std::to_string(ieta);

std::string DSCB_alphalo_name = "alphalo" + std::to_string(ieta);
std::string DSCB_alphaHi_name = "alphaHi" + std::to_string(ieta);
std::string DSCB_nLo_name = "nLo" + std::to_string(ieta);
std::string DSCB_nHi_name = "nHi" + std::to_string(ieta);

code



https://gitlab.cern.ch/aiteam/aidy/-/blob/Craig_CF_alma9/src/FwdElectronCorrectionTool.cxx#L1382

MVA




A@ How much MVA move Et of the FWD electron?

EXPERIMENT
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A@AS How much MVA move Et of the FWD electron?

EXPERIMENT
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@-Iow much MVA move Et of the FWD electro

ATLAS

EXPERIMENT
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@-Iow much MVA move Et of the FWD electro

ATLAS

EXPERIMENT
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50 interesting feature
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